

11 Q2) Solve: $\frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 u}{\partial y^2} = 0$ Subject to boundary conditions

12 $u(0, y) = 0 = u(x, y)$, and $u(x, 0) = u_0$, $\lim_{y \rightarrow \infty} u(x, y) = 0$, $0 < x < \pi$.

1 Given $\frac{\partial^2}{\partial x^2} + \frac{\partial^2}{\partial y^2} u = 0$

2 Let $u = X Y$

3 $Y \frac{\partial^2 X}{\partial x^2} + X \frac{\partial^2 Y}{\partial y^2} = 0$

4 $\frac{1}{X} \frac{\partial^2 X}{\partial x^2} = -\frac{1}{Y} \frac{\partial^2 Y}{\partial y^2} = -k^2$ (say)

5 $X = C_1 \cos Kx + C_2 \sin Kx$, $Y = C_3 e^{Ky} + C_4 e^{-Ky}$

6 $u = (C_1 \cos Kx + C_2 \sin Kx) (C_3 e^{Ky} + C_4 e^{-Ky})$

7 $u(0, y) = 0$

$0 = C_1 (C_3 e^{Ky} + C_4 e^{-Ky})$

$C_1 = 0$

from eq. (2.20.1),

$u = \sin Kx (A e^{Ky} + B e^{-Ky})$

$u(\pi, y) = 0$

Notes

Call

$$\sin k\pi = 0 \Rightarrow k = n$$

$$u = 0 \Rightarrow k = n$$

$$u = \sin n\pi x (A_n e^{x^2} + B_n e^{-x^2})$$

$\lim_{y \rightarrow \infty} u(x, y) = 0$, It is satisfied only when $A_n = 0$

from eq. (2.20.3),

$$u = \sum B_n e^{-ay} \sin n\pi x$$